INPUT GROUP REFERENCE PLANE

6.0
PTO GROUP MOUNTING FACE \ .
LEFT MOUNTING BRACKET FACE 254 — = 118.7 —=l 14.0 DRILL THRU 204.0 *l* 204.0
RIGHT MOUNTING BRACKET FACE /EEE %;ES/\ES%%LEESEQ%E CLASS
1 SCREWS PER ISO 898-1 AND
\ TORQUE PER S574 TO SERVICE e I hﬂﬁffﬁ&é%ﬁ;‘zp%%?
MANUAL VALUES. :
\ CONFORMS TO ISO 6149
NOTES: TIGHTENING TORQUE 20+2 Nm
A.PROPORTIONAL CONTROL VALVE OPERATION 80.0 @
1. WARNING - DO NOT CONNECT VALVE COIL DIRECTLY o
TO BATTERY/ POWER SUPPLY VOLTAGE 8
2. OPERATION TO BE PERFORMED WITH ONLY
TWIN-DISC CONTROL SYSTEM MODULES
B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION © !
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED 9
POSITION PUSH TO ENGAGE PRIMARY CLUTCH S ~ ‘ S
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED S 9~ 9 : S
POSITION PULL TO ENGAGE SECONDARY CLUTCH L ¢ & > 4] ©
— < X
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH - 8 g ‘
~ 1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL b S
CONTROL VALVE IS IN CENTERED POSITION AND OPEN Q !
WHEN LEVER IS ACTUATED FROM CENTERED POSITION o \
2. CURRENT = 20 AMP MAX. o
3. FOR WIRING SCHEMATIC REFER TO CONTROL DRAWING © |
UNLESS OTHERWISE SPECIFIED FASTENER TORQUE OIL FILTER
VALUES AS PER S574 STANDARD 19.0 mm CLEARANCE REQUIRED | I
TO REMOVE FILTER CANISTER. <
APPLY OIL TO FILTER GASKET. ©
r TIGHTEN FILTER AN ADDITIONAL
] 2/3 OF TURN AFTER FILTER
‘ GASKET MAKES CONTACT @ 17.5 DRILL THRU
4 HOLES FOR LIFTING
| MARINE TRANSMISSION ONLY.
C-—-
FLYWHEEL OUTLINE BREATHER OR ‘
ALL POINTS AVAILABLE FOR TESTING CODED <:> MUST CONFORM TO O R ERTOLE
SAE J620, NO.355
SAE #1 PER SECTION A-A HEN Ex GRS
SAE JoT7 B NOT RUNNING Mi2x1 5 METRIC PORT
2 [ X1.
MAIN PRESSURE PORT
SECONDARY CLUTCH(FIRST) \ | [Frtrer M12x1 5 METRIC PORT %%'\FIQFHO%/'RSAL%'CSQ%ﬁSE) , PRIMARY CLUTCH(FIRST)
ACTUATING PRESSURE PORT OIL INLET FROM HEAT EXCHANGER l» ey CONFORMS TO ISO 6149 TIGHTENING TORQUE 242 Nm ACTUATING PRESSURE PORT
M12x1.5 METRIC PORT M33x2.0 METRIC PORT 28R CONNECT OIL PRESSURE - M12x1.5 METRIC PORT
CONFORMS TO ISO 6149 CONFORMS TO ISO 6149 GAUGE LINE HERE. CONFORMS TO ISO 6149
TIGHTENING TORQUE 16£1.5 N TIGHTENING TORQUE 8828 Nim TIGHTENING TORQUE 16+1.5 Nm @ TIGHTENING TORQUE 16£1.5 Nm
PROTECTOR BEFORE PRIMARY CLUTCH(SECOND) @@
OPERATING UNIT. PRESSURE PORT o
M14x1.5 METRIC PORT SEE NOTE "C
CONFORMS TO ISO 6149
TIGHTENING TORQUE 2042 Nm .
| SEE NOTE "A
468.5
D530 H.C. INPUT SPEED SENSOR PORT
FILTER DRAIN REF. PRIMARY MANUAL DIREC TIONAL 5/8-18UNF-2B THD
. M10x1.0 METRIC PORT SHAFT @ CONTROL VALVE T ARGET WHEEL 45 TEETH
13.0 SEE NOTE "A CONFORMS TO ISO 6149 1 5 mm TRAVEL FROM CENTERED
SO TIGHTENING TORQUE 12+1 Nm ggglﬁgTNE(%ACH DIRECTION)
\\\ — //\ A
SECONDARY CLUTCH(FIRST) 0 G| =TS % % -
PRESSURE PORT 2\ 8| [ Seoad- -/ BN, PRIMARY CLUTCH(FIRST)
M14x1.5 METRIC PORT 7. coaal R AN % N PRESSURE PORT
CONFORMS TO ISO 6149 A eYe) L NEN o\ M14x1.5 METRIC PORT
TIGHTENING TORQUE 20+2 Nm o AT T 55 Peaii 2 CONFORMS TO 1SO 6149
- S / | b 9, TIGHTENING TORQUE 20+2 Nm
S  LUBE PRESSURE PORT \T
| M14x1.5 METRIC PORT = ————= - T |
CONFORMS TO ISO 6149 SO 5 + . ,
TIGHTENING TORQUE 20+2 Nm [ || Q) - 72NN
[ S ™ :
OIL OUTLET TO @ OIL GAUGE <
HEAT EXCHANGER S
| M33x2.0 METRIC PORT ‘
CONFORMS TO ISO 6149 ‘ ®11.9 THRU |
TIGHTENING TORQUE 88+8 Nm 12 HOLES EQUALLY SPACED - -
‘ REMOVE ALUMINIUM THREAD USE 8.8 PROPERY CLASS QAULITY = ‘
i PROTECTOR BEFORE CAPSCREWS PER ISO 898-1 AND ;;;% !
OPERATING UNIT. TORQUE TO S574 OR SERVICE T
~ ‘ MANUAL VALUES. == ‘
< i ‘
e OIL STRAINER |~
| M12x1.75 THREAD, 12.0 DEEP |
90 mm CLEARANCE REQUIRED |
TO REMOVE OIL STRAINER PRIMARY CLUTCH(SECOND)/
21.3 mm CLEARANCE PRESSURE PORT
REQUIRED TO
RENOVE PUMP o M14x1.5 METRIC PORT
S CENTER OF CONFORMS TO ISO 6149
§ GRAVITY TIGHTENING TORQUE 2042 Nm - ]
SEeoNAEY GuyrrsECoND
M14x1.5 METRIC PORT R R 0L
CONFORMS TO ISO 6149 CONFORMS TO ISO 6149 T
CENTER OF TIGHTENING TORQUE 16+1.5 Nm B
GRAVITY VV
\ e
‘ \/r B = 6.0 7
M20X2.5 THREAD, T 32.5 =] 250
12 HOLES. USE ALL (12) HOLES, =) OUTPUT SPEED
— 710 [=—127.0 — 6 PER SIDE FOR MOUNTING. - < % SENSOR BRACKET
USE GRADE 8.8 PROPERTY CLASS Q TARGET WHEEL: 68 TEETH
2340 —— CAPSCREWS PER ISO 898-1 ~ 305.0 — 305.0 - o
AND TORQUE TO S574. DIRECTION OF OUTPUT
FLANGE ROTATION
(R.H. ENGINES DRIVING OIL DRAIN PLUG - 436.2 -
THRU PRIMARY CLUTCH) M33x2.0 THREAD
CONFORMS TO ISO 6149
TIGHTEN TORQUE 88+8 Nm - 144 .4 — 554.9 -
15 mm CLEARANCE REQUIRED
TO REMOVE PLUG
- |ECNWF-24449] 09/23/2014
®200.0 H.C. REV|  CHANGE NO. DATE
REF.
MATERIAL: DATE:
$245.0 FIRST USE ASSEM?LY. it 363.5k ﬁ“ |/| THIRD ANGLE 01/17/2013
FIRST USE MODEL: &—// l\, PROJECTION i
@ 24.50 DRILL THRU EQUIPMENT SHOWN: SIMILAR TO: R’ kgrm” HEAT TREAT: SCALE1 4 RACINE, WI 53403 - USA
8 HOLES EQUALLY SPACED - MGX-5146A PER 1027596 ASSEMBLY M ET R C UNLESS OTHERWISE SPECIFIED DRAWN BY: ’
_ SAE #1 MACH;(NED DII}A(E?SSIONS MG
VIEW B-B LR L RN S FILE MODULE T TSR COUTANS PROPREIASY N ORUAIOL D S xS DESCRITION R 1027597
- - TWIN DISC, INCORPORATED ALL ANGULAR TOLERANCES £1° INSTALLATION - - -
HRASTSE RO NIERREOTO N ORI RGHTS | PR ASE V14 oM 1604 MGX-5146A VMR BE A1 1oF1] -

F E | D C | B | A




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View11
	Section View A-A
	Drawing View13


